FENCE HEIGHT TO BE ADJUSTED AT
GATE TO ACHIEVE MIN 2600 mm
FROM ROOAD LEVEL

M12 FIXING BOLTS &

PALES TO BE CORRUGATED WITH

50 mm SPACING
BETWEEN 3.5 mm PALES
(23n0. PER PANEL)

2750 POST CENTRES

TRIAD HEADS & WELDED TO

’750 x 50 x 6 STEEL ANGLE

PERMACONE SHEAR NUTS

—

AND SPLAYED HEADS WELDED TO
50 x 50 x 6 STEEL ANGLE WITH

N\
ANGLE BRACKET FIXED INTO WEB >
(angle fixings only)

M~

50 x 50 x 6 ANGLE = ETT
BOLTED TO 50 x
50 x 6 mm ANGLE
BRACKET BOLTED
TO POST
FIXING AREA TO POST 100 x 75 mm
ENSURING METAL TO METAL FIXINGS

o
PALES TO BE 70 x 20 x 3.5 mm g
CORRUGATED WITH TRIPLE POINTED a

23 No. PALES PER PANEL

50 x 50 x 6 ANGLE
HORIZONTAL RAILS

ALL POSTS PREDRILLED WITH 15 mm
dia. FIXING HOLES INTERNAL FLANGE

FACE PROVIDE A 1 m LENGTH OF 50
mm PVC PIPE DUCT FROM RSJ EARTH
LUG THROUGH PLINTH INTO COMPOUND
AT EACH CORNER AND MIDDLE OF FENCE

1

o
n
™

prrasR
<——————— 100 x 55 x B.1 kg/m—m >

151

TOP OF FENCE
y

50 x 50 x 6 mm
HOR\ZQNTAL RAIL

RSJ POSTS

POWDER COATED GALVANISED FENCE:

NO POWDER COATING TO:

ANGLE FIXING BRACKET,

FIXING AREA TO POST 100 x 75 mm,
100 mm LENGTH OF ANGLE TO PANELS
50 x 50 mm AREA AT PREDRILLED HOLES
ENSURING METAL TO METAL FIXINGS

ALL POSTS PREDRILLED
WITH 15 mm Dia. FIXING HOLES
FLANGE OF INTERNAL FACE

CONC. PLINTH

(SHOWN DOTTED)

PANELS EMBEDDED 50 mm IN
CONCRETE PLINTH & 100 mm
MINIMUM CONCRETE COVER TO
FRONT OF PALES

LENGTH OR AS DIRECTED BY THE h&
ENGINEER —
2 2%

POST EMBEDDED LENGTH
850 mm MIN.

FOUNDATIONS DIMENSIONS
TO QUTSIDE GROUND LEVEL
GRADE C30/37 CONCRETE

1100 x 600 x 600 mm CONCRUEgE: 4
, 600 ,

ELEVATION OF FENCE

-CONCRETE PLINTH 50 mm MIN.

& COMPACTED CL.804 UNDER

SCALE 1:50

GREEN POWDER COATED PALISADE FENCE POST.
MINIMUM OF 4 No. ADDITIONAL HIGH PALES
E

F ON LOWER FENCI

TT
I

ABOVE & BELOW GROUND LEVEL

B RS
« SRR

1100 x 600 x 600 mm
CONCRETE FOUNDATIONS

1100

1100 x 600 x 600 mm
CONCRETE FOUNDATIONS

100 100
A A
HORIZONTAL RAILS
50 x 50 x 6 mm ANGLE
BOLTED TO 50 X M
50 X 6 mm ANGLE A
BRACKET BOLTED
TO POST
100 x 55 x 8.4 kg/m
RSJ POSTS
o
50 x 50 x 6 mm 3
b

825 mm MIN.

SIDE ELEVATION

OF POST

SCALE 1:50

NOT GREATER THAN 50 mm

NON_POW|
SECTION

DERCDA
S

{TED
T.

\\‘,

PERMACONE SHEAR NUTS

NON POWDERCOATED SECTION
OF POST AT BRACKET
. POSITION.
L—T] \\
e M12 BOL
=4

.

PERMACONE SHEAR NUTS

STEP(S) IN PALISADE FENCE (WHERE APPLICABLE)

SCALE 1:50

DEPTH OF STEP TO BE AGREED ON SITE, BUT NOT GREATER THAN 200 mm
NOTE:— ADDITIONAL HIGH PALES ON LOWER FENCE.

ANGLE BOLTED TO 50 X
50 X 6 mm ANGLE
BRACKET BOLTED TO
0ST

150 mm x 250 mm
CONCRETE PLINTH ON 150 mm)
HARDCORE UNDER

o
g" 2, 150

1100

ST1700 x 600 x 600 mm
CONCRETE FOUNDATIONS

PALES & PLINTH

DETAILS

SCALE 1:50

BOLTS M12
WITH PERMACONE
SHEAR NUTS

10 mm FALL
50 mm MINIMUM
CONCRETE
COVER TO PALES

PLINTH 140 mm
MINIMUM DEPTH

150 mm
COMPACTED CL 804

1100

@ a

-

=

DETAILS OF FOUNDATION

/7 CONC. PLINTH

¢

Bl

I
FIX CHS 48.3 x 3.2
TO EVERY 4th. POST.
WITH 2 NO. M10 BOLTS

max 100@/mm
600 mm

FINISHED | COMPOUN
STONE LEVEL

™

2600

‘ 1100 x 800 x 800 mm
CONCRETE FOUNDATIONS

GROUND LEVEL

DIMENSIONS TO OUTSIDE

B00 X 600 X 600 mm
DEEP CONCRETE
FOUNDATION

NOTES
1.) THIS DRAWING IS NOT TO BE SCALED.

2.) GALVANISING TO BE IN ACCORDANCE WITH LS. EN
ISO 1461.

3.) POWDER COATING TO BE IN ACCORDANCE WITH I.S.
EN 13438.

4.) PALES TO BE TRIPLE POINTED & SPLAYED, AND
WELDED TO RAILS IN ACCORDANCE WITH CL. 5.1 OF
BS 1722

5.) GAP BETWEEN PALES AND BETWEEN PALES AND
RSJ TO BE NOT GREATER THAT 50 mm.

6.) MINIMUM HEIGHT OF FENCE ON EITHER SIDE OF
COMPOUND IS TO BE 2600 mm

7.) IN AREAS OF MADE—UP GROUND ADDITIONAL
CONCRETE TO BE USED IN BASE. QUANTITY TO BE
APPROVED BY THE ENGINEER IN ADVANCE.

8.) CONCRETE TO BE GRADE C30/37 TO BASES.

9.) PALISADE FENCE TO HAVE GREEN POWDER COATING
IN ACCORDANCE 5. WITH I.S. EN 13438. COLOUR;
MOSS GREEN RAL 6005.

10.) PALISADE FENCE TO BE CONSTRUCTED IN
ACCORDANCE WITH B.S. 1722 PART 12.

DETAIL OF STRUTS

TO CORNERP

OST

SCALE 1:50

P THIS SECTION OF FENCING TO BE WELDED CONSTRUCTION, P

FABRICATION AS PER MAIN PANELS AS NOTED

*
‘ ANGLE TO BE
“ . AJ DETERMINED

ON SITE.

4‘*

MINIMUM H
OF FENCE
EITHER SID
COMPQUND
2650 mm

ELEVATION TO TYPICAL SLOPED

SECTION OF FENCING

SCALE 1:50

EIGHT
ON

E OF
IS TO

TO FENCING

SCALE 1:50
(WHERE REQUIRED)

900 ,

3.5 mm PALE BLADES TO BE |
CORRUGATED WITH TRIAD HEADS

& WELDED TO B0 x 40 mm

RHS & 50 mm SPACING |
BETWEEN PANELS |

: Y
ANTI CLIMBING DEVICE FIXED Ny

TO SUPPORT BRACKET FIXED
TO 50 x 50 x 6 =

ANTI CLIMBING

|

|

DEVICE FIXED |
TO CORNER

|

|

|

|

00

| POST.

=}

PLAN 1:50

0
©| ANTI CLIMBING DEVICE FIXED

HORIZONTAL RAIL.

TO SUPPORT BRACKET FIXED
TO 100 x 55 x 8.1 kg/m
RSJ POST

DETAILS OF ANTI-CLIMBING

AID (WHERE APPLICABLE)

SCALE 1:50

~ | COPYRIGHT © ESB

( ) ( . N ( Drawin title ALL RIGHTS RESERVED. NO PART OF THIS WORK MAY BE MODIFIED, REPRODUCED OR COPIED IN ANY FORM OR BY ANY MEANS
cllent g - GRAPHIC, ELECTRONIC OR MECHANICAL, INCLUDING PHOTOCOPYING, RECORDING, TAPING OR USED FOR ANY PURPOSE
Eng ineeri ng and M ai or Proj ects ESB NETWORKS FOSTERSTOWN 110kV SUBSTATION OTHER THAN ITS DESIGNATED PURPOSE, WITHOUT THE WRITTEN PERMISSION OF ESB.
One Dublin Airport Central, g ) PALISADE FENCE Drawn Produced Verified Approved Approval date
53 Dublin Airport, Cloghran, (Project ) PLANNING JByrme | Pentony Ki | LMcManus | S.Donnelly | 02/07/2025
1 [JuL 25| 1SSUED FOR PLANNING Co. Dublin, K67 XF72, Ireland. FOSTERSTOWN 110 kV SUBSTATION Client ref. No. of sheets Size Scale
0 |AUG ‘24| ISSUED FOR REVIEW JB | KP | JD |BM Tel: 353 1 703 8000 Web: www.esb.ie \ | ) TC230706 1 A3 1:50
Rev| Date Revision description Drn. Prod] Ver. | App. Energy fO'I" . . . . 4 N N
- — —= ti Engineering and Major Projects is a Contract Production unit Drawing number ‘ SHEET‘ REV
Purpose of issue - Preliminary unless indicated generations division of ESB |_TM0342B . e .
) S ® - Transmission and Distribution Delivery PE492-D282-016-010-001
Acp:;::\tal [ Planning Tender [] Construction [] As-Built [] L I JL JAN | |

c:\bc—workspace\mcmanus_I\m-—virtapp2349s.cld1.tld.int,d—high voltage\drawings\pe492 110 kv substation services\282 — fosterstown 110 kv substation\pe492—-d282—016—010-001.dwg



AutoCAD SHX Text
CONCRETE PLINTH 50 mm MIN. ABOVE & BELOW GROUND LEVEL & COMPACTED CL.804 UNDER

AutoCAD SHX Text
1100 x 600 x 600 mm CONCRETE FOUNDATIONS

AutoCAD SHX Text
ALL POSTS PREDRILLED WITH 15 mm Dia. FIXING HOLES FLANGE OF INTERNAL FACE

AutoCAD SHX Text
50 mm SPACING BETWEEN 3.5 mm PALES (23no. PER PANEL)

AutoCAD SHX Text
PALES TO BE CORRUGATED WITH TRIAD HEADS & WELDED TO  50 x 50 x 6 STEEL ANGLE

AutoCAD SHX Text
100 x 55 x 8.1 kg/m RSJ POSTS

AutoCAD SHX Text
POWDER COATED GALVANISED FENCE: NO POWDER COATING TO: ANGLE FIXING BRACKET, FIXING AREA TO POST 100 x 75 mm, 100 mm LENGTH OF ANGLE TO PANELS 50 x 50 mm AREA AT PREDRILLED HOLES ENSURING METAL TO METAL FIXINGS

AutoCAD SHX Text
TOP OF FENCE

AutoCAD SHX Text
CONC. PLINTH (SHOWN DOTTED)

AutoCAD SHX Text
50 x 50 x 6 mm  HORIZONTAL RAIL

AutoCAD SHX Text
100 x 55 x 8.1 kg/m RSJ POSTS

AutoCAD SHX Text
PALES TO BE 70 x 20 x 3.5 mm CORRUGATED WITH TRIPLE POINTED AND SPLAYED HEADS WELDED TO 50 x 50 x 6 STEEL ANGLE WITH 23 No. PALES PER PANEL

AutoCAD SHX Text
50 x 50 x 6 ANGLE BOLTED TO 50 x  50 x 6 mm ANGLE BRACKET BOLTED  TO POST

AutoCAD SHX Text
FIXING AREA TO POST 100 x 75 mm, ENSURING METAL TO METAL FIXINGS 

AutoCAD SHX Text
ALL POSTS PREDRILLED WITH 15 mm dia. FIXING HOLES INTERNAL FLANGE FACE PROVIDE A 1 m LENGTH OF 50 mm PVC PIPE DUCT FROM RSJ EARTH LUG THROUGH PLINTH INTO COMPOUND AT EACH CORNER AND MIDDLE OF FENCE LENGTH OR AS DIRECTED BY THE ENGINEER

AutoCAD SHX Text
PANELS EMBEDDED 50 mm IN CONCRETE PLINTH & 100 mm MINIMUM CONCRETE COVER TO FRONT OF PALES

AutoCAD SHX Text
1100 x 600 x 600 mm CONCRETE FOUNDATIONS DIMENSIONS TO OUTSIDE GROUND LEVEL GRADE C30/37 CONCRETE

AutoCAD SHX Text
POST EMBEDDED LENGTH 850 mm MIN.

AutoCAD SHX Text
50 x 50 x 6 ANGLE HORIZONTAL RAILS

AutoCAD SHX Text
50 x 50 x 6 ANGLE HORIZONTAL RAILS

AutoCAD SHX Text
M12 FIXING BOLTS & PERMACONE SHEAR NUTS

AutoCAD SHX Text
ANGLE BRACKET FIXED INTO WEB (angle fixings only)

AutoCAD SHX Text
10 mm FALL

AutoCAD SHX Text
PLINTH 140 mm MINIMUM DEPTH

AutoCAD SHX Text
50 mm MINIMUM  CONCRETE  COVER TO PALES 

AutoCAD SHX Text
150 mm x 250 mm CONCRETE PLINTH ON 150 mm  HARDCORE UNDER

AutoCAD SHX Text
50 x 50 x 6 mm ANGLE BOLTED TO 50 X 50 X 6 mm ANGLE BRACKET BOLTED TO POST

AutoCAD SHX Text
HORIZONTAL RAILS

AutoCAD SHX Text
50 x 50 x 6 mm ANGLE BOLTED TO 50 X  50 X 6 mm ANGLE BRACKET BOLTED  TO POST

AutoCAD SHX Text
BOLTS M12  WITH PERMACONE  SHEAR NUTS

AutoCAD SHX Text
CONC. PLINTH

AutoCAD SHX Text
1100 x 800 x 800 mm  CONCRETE FOUNDATIONS  DIMENSIONS TO OUTSIDE  GROUND LEVEL

AutoCAD SHX Text
600 X 600 X 600 mm DEEP CONCRETE FOUNDATION

AutoCAD SHX Text
FIX CHS 48.3 x 3.2 TO EVERY 4th. POST. WITH 2 N0. M10 BOLTS

AutoCAD SHX Text
150 mm COMPACTED CL 804 

AutoCAD SHX Text
FINISHED COMPOUND STONE LEVEL

AutoCAD SHX Text
FENCE HEIGHT TO BE ADJUSTED AT GATE TO ACHIEVE MIN 2600 mm FROM ROOAD LEVEL

AutoCAD SHX Text
1100 x 600 x 600 mm CONCRETE FOUNDATIONS

AutoCAD SHX Text
1100 x 600 x 600 mm CONCRETE FOUNDATIONS

AutoCAD SHX Text
NOTE:- ADDITIONAL HIGH PALES ON LOWER FENCE.

AutoCAD SHX Text
DEPTH OF STEP TO BE AGREED ON SITE, BUT NOT GREATER THAN 200 mm

AutoCAD SHX Text
GREEN POWDER COATED PALISADE FENCE POST.

AutoCAD SHX Text
MINIMUM OF 4 No. ADDITIONAL HIGH PALES ON LOWER FENCE

AutoCAD SHX Text
NON POWDERCOATED SECTION OF POST AT BRACKET  POSITION.

AutoCAD SHX Text
M12 BOLT

AutoCAD SHX Text
PERMACONE SHEAR NUTS

AutoCAD SHX Text
PERMACONE SHEAR NUTS

AutoCAD SHX Text
NON POWDERCOATED SECTION OF POST.

AutoCAD SHX Text
NON POWDERCOATED SECTION OF POST AT BRACKET  POSITION.

AutoCAD SHX Text
M12 BOLT

AutoCAD SHX Text
PERMACONE SHEAR NUTS

AutoCAD SHX Text
PERMACONE SHEAR NUTS

AutoCAD SHX Text
NON POWDERCOATED SECTION OF POST.

AutoCAD SHX Text
NOT GREATER THAN 50 mm

AutoCAD SHX Text
ANGLE TO BE  DETERMINED  ON SITE.

AutoCAD SHX Text
ANGLE TO BE  DETERMINED  ON SITE.

AutoCAD SHX Text
MINIMUM HEIGHT  OF FENCE  ON  EITHER SIDE OF COMPOUND IS TO BE  2650 mm

AutoCAD SHX Text
THIS SECTION OF FENCING TO BE WELDED CONSTRUCTION, FABRICATION AS PER MAIN PANELS AS NOTED

AutoCAD SHX Text
ANTI CLIMBING DEVICE FIXED TO CORNER POST.

AutoCAD SHX Text
ANTI CLIMBING DEVICE FIXED TO SUPPORT BRACKET FIXED TO 100 x 55 x 8.1 kg/m RSJ POST

AutoCAD SHX Text
3.5 mm PALE BLADES TO BE CORRUGATED WITH TRIAD HEADS & WELDED TO 60 x 40 mm RHS & 50 mm SPACING BETWEEN PANELS

AutoCAD SHX Text
PLAN 1:50

AutoCAD SHX Text
ANTI CLIMBING DEVICE FIXED TO SUPPORT BRACKET FIXED TO 50 x 50 x 6 HORIZONTAL RAIL.

AutoCAD SHX Text
NOTES  1.) THIS DRAWING IS NOT TO BE SCALED.  2.) GALVANISING TO BE IN ACCORDANCE WITH I.S. EN ISO 1461. 3.) POWDER COATING TO BE IN ACCORDANCE WITH I.S. EN 13438.  4.) PALES TO BE TRIPLE POINTED & SPLAYED, AND WELDED TO RAILS IN ACCORDANCE WITH CL. 5.1 OF BS 1722  5.) GAP BETWEEN PALES AND BETWEEN PALES AND RSJ TO BE NOT GREATER THAT 50 mm. 6.) MINIMUM HEIGHT OF FENCE ON EITHER SIDE OF EITHER SIDE OF  SIDE OF COMPOUND IS TO BE 2600 mm  7.) IN AREAS OF MADE-UP GROUND ADDITIONAL CONCRETE TO BE USED IN BASE. QUANTITY TO BE APPROVED BY THE ENGINEER IN ADVANCE.  8.) CONCRETE TO BE GRADE C30/37 TO BASES. 9.) PALISADE FENCE TO HAVE GREEN POWDER COATING IN ACCORDANCE 5. WITH I.S. EN 13438. COLOUR; MOSS GREEN RAL 6005. 10.) PALISADE FENCE TO BE CONSTRUCTED IN   ACCORDANCE WITH B.S. 1722 PART 12. 

AutoCAD SHX Text
c:\bc-workspace\mcmanus_l\m-virtapp2349s.cld1.tld.int,d-high voltage\drawings\pe492 110 kv substation services\282 - fosterstown 110 kv substation\pe492-d282-016-010-001.dwg


	Sheets and Views
	A3 Sheet


